wHEr 2

L3\

N
7 7 '\7195 . —— . . BT MRAR T LY —Ib
7 v A9 E (DEREEREMRILY —) co-packer:M Tool CO.LTD.
ADJUSTA-OH (The Turning Tool holders which can perform height adjustment)

¥ EXIEM-DTGNR
M-DTGNR drawing

AEEI55!

WA Y —MIFIFEERYET .  Inserts sold separately. Video is here !

_ ]
g @AVY—hDEREZERARENEXT ®Maximizing insert performance is possible.
é QIREDNZIE) DfEH @Point remaining on work center is removable.
;\ OBZA—H—DA VY —NIHILHEFT @Insert of each maker is available.
K @FFEIRICKY GBAN -S4 THEYET ®Making grooving and cut off type is possible due to BTO.
}5[," ORI SV FICEA VT — N EBRICREE ®Insert can be reliably held with a special clamp.
| @1vP—hDEHUP ®Increase the life of insert.

EAL : mm
Emmd— R BEA Y-k
Item Code Inserts
M-DCLNR2020K-12 20 20 19.9 125
M-DCLNR2525-12 25 25 249 150 CNLIH1204
M-DDJNR2020K-15 20 20 19.9 130
M-DDJNR2525M+15 25 25 249 150 DNEIET1504
M-DTGNR2020K-16 20 20 19.9 125
M-DTGNR2525M-16 25 25 24.9 150 TNLIL1604
M-DWLNR2020K-08 20 20 19.9 125
M-DWLNR2525M-08 25 25 249 150 WNEI-0804

Xh: FAEEEHE —0.1~+0.3
Adjustable range

WEf5E Parts

\ sy | Fe)m |22 T meEVA
AR a— R HE | @WECY |75V 7m0 )bnx| BERS | TENC SRR | R IAELYF RELYF
Item Code Shims Pins Clamps | Coil Springs justment Bolt screws |Hetagonsocket button| - e key Hex key

; head ]
screws | Taper blsdes o cymp piece N for offset pin

M-DCLNR2020K-12 | MMSC-432 | MMLP46 |M-CTW0811| MCS-1 MB-C | MB-S20 M4X0.7X8L
M-DCLNR2525M-12 | MMSC-432 | MMLP46 |M-CTWO0811| MCS-1 MB-C | MB-525 CS-1 |M4X0.7X8L| H-2.5 H-2.5
M-DDJNR2020K-15 | MMSD-432 | MMLP46 | M-D0810 | MCS-1 MB-C | MB-520 CS-1 |M4X0.7X8L| H-2.5 H-2.5
M-DDJNR2525M-15 | MMSD-432 | MMLP46 | M-D0810 | MCS-1 MB-C  |WMB-525-DN| CS-1 [ M4X0.7X8L| H-2.5 H-2.5
M-DTGNR2020K-16 | MIMST-322 | MMLP34L |M-CTW0811| MCS-1 MB-C | MB-520 CS-1 |M4X0.7X8L| H-2.5 H-2

M-DTGNR2525M-16 | MIMST-322 | MMLP34L |M-CTWO0811| MCS-1 MB-C | MB-525 CS-1 |M4X0.7X8L| H-2.5 H-2

M-DWLNR2020K-08 | MMSW-432| MMLP46 |M-CTWO0811| MCS-1 MB-C | MB-520 CS-1 | M4X0.7X8L| H-2.5 H-2.5
M-DWLNR2525M-08 | MMSW-432| MMLP46 |M-CTW0811| MCS-1 MB-C | MB-S25 CS-1 [M4X0.7X8L| H-2.5 H-2.5

HANEEDREN DETTOT. T—N—TL—ReX BT 255 AP EH@P)TIVENTEVET,
Submitting body is necessary for adjusting when taper blade needs to replace.

94



7 I v A9 EDERIIM L TOLLUT OfkZ Bz L4

ORERDITEDIBENRE LR
QO LFEREICHETERL
B VY —k(FvY) DFEFwRHIEN

CO&SBIRRIHES
[RERD—D2&ULT.
ITEFD i
N 0(E0)ICIE>TLIEL
ENEIFESNET,

NIEOBEDRVICE. A VY = EOICRILS —REBEEFED
WERECL INIROI Sy 1 FIBRESLICLDNIIIY
BARDERRENMERALTVNRIHEENHIET,

SEOAVDEEFEELVT. APE (I —LyMERILT—D
BICY LT — D72 RIHAHRE - HET B7EN—RIWTI N
FEPEBICRETCRFEORBRZANELL. KCKEBFHD
MhET,

—=3gVii—a [

AYREHRDESHABRIZO T CECK) RV —EEBBD T U—RH RS A FUTHREE,

R ECEEE S

—

. NV —DitEZE—&R< Yy L THREINIZ{TI,

2. IREN IO A VY —bD/ =X BT ikl
HBATES.

- ITRICTZRDTENY DER T DARES (BER)ZAET B

AEUNAY DRESDED (FHERD) SEZLIFS.

W




